
KAWASAKI MACHINERY CO., LTD.

MODEL KPT-0544
4” Air Extend Corner Cutter  

Parts List

 

Size of Wheel Disc 
4” (101 mm) 
I.D. 10 mm 

Free Speed 15,000 rpm 
Air Consump�on 138 l/min 
Overall Length 370 mm 
Net Weight 1.38 kg 
Air Inlet 1/4”  

NO. Descrip�on Q’ty NO. Descrip�on Q’ty 
1 Inlet Bushing 1 31 NUT 1 
2 O-Ring(1.78*ID28.3) 1 32 Transfer Ring 1 
3 Exhaust Control Spacer 1 33 Sleeve 1 
4 Fabric Slincer 1 34 Drive Housing 1 
5 Rubber 1 35 O-Ring 1 
6 Thro�le Lever 1 36 Clamp Nut 1 
7 Spring Pin(Φ3 x 23 ) 1 37 Spring 1 
8 Motor Housing 1 38 Bu�on 1 
9 Valve Bushing 1 39 Bu�on Ring 1 

10 O-Ring(P5) 1 40 Drive Sha� 1 
11 O-Ring(Φ3.6x2.4) 1 41 Bolt Screw 1 
12 Valve Stem 1 42 Bearing(607zz) 1 
13 Valve Spring 1 43 Washer 1 
14 Air Regulator 1 44 Pinion Gear 1 
15 O-Ring(P7) 1 45 Gear Housing 1 
16 O-Ring(P12) 1 46 Grease Fi�ng 1 
17 Thro�le Valve Plug 1 47 Screw M4*25L 2 
18 Ball Bearing (626z) 1 48 Cover Guide 1 
19 Rear End Piate 1 49 Cover 1 
20 Lever Pin 2 50 Bearing (684zz) 1 
21 Cylinder 1 51 Drive Sha� 1 
22 Rotor 1 52 Key(2x2x6) 1 
23 Rotor Blades 4 53 Bevel Gear 1 
24 An�lock Ring 1 54 Bearing(6902zz) 1 
25 Front Plate 1 55 Nut 1 
26 Spring Pin (Φ2.5 x 4) 1 56 Ring 1 
27 O-Ring 1 57 Cu�ng Wheel 1 
28 Bearing(6000zz) 2 58 Flange 1 
29 Transfer Nut 2 59 Screw(M6x16) 1 
30 Gear Case 1 60 Hexagon Wrench Key 4 1 

 


